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QUESTION 1

What is the size of the VLAN tag in an Ethernet frame?
A. 4 bytes

B. 8 bytes

C. 1 byte

D. 2 bytes

Correct Answer: A

QUESTION 2
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AS 64532

LoO0: 144.254.32.1/32

LoO: 144.254.31.1/32

192.168.32.0/24

OSPF Area O

192.168.232.0/24

192.168.34.0/24

Lo0: 144.254.33.1/32

Refer to the exhibit.

No static routing has been configured. For iBGP loopback-based peering, which statement is correct?
A. Itis not necessary for the routing table on S1 to have an entry for the loopback network of S3.

B. S1 should have the Loopback network of S3 in its routing table for loopback-based peering.

C. For iBGP peering, physical interface addresses must be used.

D. A static route on S1 to 144.254.32.1/32 will eliminate the need for loopback-based peering with S3.

Correct Answer: B

QUESTION 3
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A network administrator is designing a Layer 2 topology and requires separate spanning-tree roots to avoid having a
given port blocked for all instances. Which spanning-tree protocols will meet this need?

A. STP and RSTP

B. RSTP-PV and MSTP
C. STP and RSTP-PV
D. RSTP and MSTP

Correct Answer: B

QUESTION 4

What is the function of the authentication service?

A. Validates the user identity

B. Determines switch management commands

C. Validates switch order

D. Determines which services the user is enabled to access

Correct Answer: A

QUESTION 5

What is the maximum number of LLDP neighbors supported per system with OS10?
A. 250

B. 256

C. 384

D. 512

Correct Answer: A
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